QYM|KANTON BERN

Gymnasiale Maturitat

Aufnahmeprifung 2024

fur den Eintritt in das 3. Jahr des gymnasialen Bildungsgangs

Losungen
Aufgabe 1

4(x-3)-12x=6

Aufgabe 2

o 1283
43> a
243
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2st

Aufgabe 3

12000m-3000m-20m=720'000'000m* =720'000'000'000/ =7,2-10""/

Aufgabe 4
(x+3)-7+4=12x=x=5

Aufgabe 5
x=-3;y=10

Aufgabe 6
a) f(2)~2,2
b) x,=-1x,=1

Aufgabe 7

6

a) f(4)=—=

) F(4)-¢

b) x=-2
c) y=2

Aufgabe 8

a) 4x—2=0,5x:>x=;

b) 4x—2=—x:>x=§

+(4x)2 =4x-12-4x+2+16x*=-10+16x>

EEENR
= mmm MIT NEUGIER ZU WISSEN.
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Aufgabe 9 “

Aufgabe 10
f(X)zg—in3.20—0.32X
280 28
Aufgabe 11
i
3 3
Aufgabe 12
X, =—_m+2z—1,378;x2 _N79+2_, 174
5 5
Aufgabe 13
XX 4x=T(10-X) > 4x=T0-Tx > 11x=T0-> x= 122636
Aufgabe 14

2 B 1
Zadx=2x0 453
X

Aufgabe 15
log, ((33 )2j =log, (as) =6

Aufgabe 16
10mg

2

0,625mg

Aufgabe 17
1,06 =2 = x =log, 4 (2) ~ 11,896 Jahre

Aufgabe 18
sin(a)= 73 = g =arcsin 73 ~ 27,145°
16 16
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Aufgabe 19
a =49,26°

Aufgabe 20
55,4cm



